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HERA |0MHNB15MET 946.00 | 200.69 230.81 | 215.81 | 213.13 +2.68
PEEB [15mMERIS0MET 1,454.20| 166.81 196.93 | 181.93 | 17925 | +2.68
PEFRC [50mMEBZ200mMET 2,013.00| 155.63 185.75 170.75 168.07 +2.68
PERD [200mMZEBZ800mMET 7,700.00| 127.20 157.32 | 142.32 | 139.64 +2.68
HIERE |800mMZzBZ35E 9,900.00| 124.45 15457 | 139.57 | 136.89 +2.68
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HAOHZARE = BEARE + (SRAENE ERE) x AXIERS)
(F) ZfEMAER25m]ofARE = 1,454.20M + ( 181.93 x 25m) = 6002M
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HARIEERE B M CEHERA
ERE | A A8E BHEZE | AA8E FERE | AZA8E FHE | AA8E EHE | A A8E BHRE | AA8E
om 946 10m 3,104 20m | 5,092 30m | 6,912 som | 8,731 50m | 10,550
i 1,161 11m 3,319 21m | 5,274 31w | 7,094 a1mt | 8,913 s5im | 10,721
2m 1,377 12m 3,535 22m | 5,456 32m | 7,275 a2m | 9,095 52mi | 10,892
3m 1,593 13m 3,751 23m | 5,638 33m | 7,457 43m | 9,277 53m | 11,062
am 1,809 14m 3,967 24m | 5,820 34m | 7,639 a4mi | 9,459 54m | 11,233
5m 2,025 15m | 4,183 25m | 6,002 35m | 7,821 a5m | 9,641 55m | 11,404
6m 2,240 16m | 4,365 26m | 6,184 36m | 8,003 a6m | 9,822 s56m | 11,575
7m 2,456 17m | 4,547 27m | 6,366 37m | 8,185 47m | 10,004 57m | 11,745
8m 2,672 18m | 4,728 28m | 6,548 38m | 8,367 a8m | 10,186 58m | 11,916
9m 2,888 19m | 4,910 29m | 6,730 39m | 8,549 49m | 10,368 5om | 12,087
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| BERSAEE = (TORRMIE — EETRAUER(66,310M]) + 100 x 0.084 x 1.1 |
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| LAEfRES = BEEHRe  + SRS R |




